Algebra | Name:

Unit 2a Quiz-RgVKw

Solve each equation and justify each step using a property of equality.

1) —21 =3k + 4k 2) ~7x+7)=-84

3) 21+ 7k) =-8(2k - 4)

Solve each inequality.

4) 6>1-5n+5 5) 115<-5(1 - 3x)

6) -9 —8x<3(x+8)

Literal Equations: Rewrite each equation in terms of the indicated (Létter).
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Trapslating Word Problems to Equations & Inequalities
Set up the equation to represent the problem & solve. NO CREDIT WITHOUT AN EQUATION!

13, When 5 is added to three times a number, the result is 50. Find the number.

4, The sum of 3 consecutive integers is 192. Find the 3 numbers.

1S, You are trying to save $45 a week to buy a new video game. During the last 4 weeks you have
saved $35, $55, $43, and $39. How much do you need to save this week to average $45 for the 5
weeks? '

\\%. The width of a rectangie is 14 inches more than the length. The perimeter is 120. Find the
length and width of the rectangle.

Y7. The sum of twice a number and nine is at most thirty-five. Solve to find the possible numbers.
Write your answer as an inequality. ‘

iB. Twelve subtracted from a number is greater than or equal to forty. Solve to find the possible
numbers. Write your answer as an inequality.
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